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Psychology

Paper II

HAAIMSH
P9ateRt 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question

[Maximum Marks : 100

carrying Two (2) marks. Attempt All questions.

U SRd. @d U Wi

oAl : A TRAULThd THY U (50) Ig9arE TEA ol ofed. Ui TR € (2)

The monocular cue to distance in

perspective drawings is :

(A) Linear perspective

(B) Aerial perspective

(C) Gradient texture

(D) Height in the horizontal plane

Which of the following is a correct

learning acquisition sequence ?

(A) Drive—cue—response—

reinforcement

(B) Cue—drive—response—

reinforcement

(C) Cue—response—drive—

reinforcement

(D) Drive—response—cue—

reinforcement

1.

TRige foomd SISl TR =k

IO TS ?
(A) @ aige
(B) siaRafm ufgs
(C) Yaurk did

(D) TS THIR Jeevrmda 341

EeATeAUehT ShIUIdT STEIFTEUR i se
A ?
(A) TERAT—Hehd— STfRaT—

EEGIEaL
(B) Hehd—Yale1— 3Tfhai—
EEGICaL
(C) Fohd—STfhaT—=RA—
EEGIEaL
(D) TEEAT— T fohaT—Hehd—
EEGIEaL)

[P.T.O.



The working memory is markedly

affected by :

(A) Attention

(B) Motivation

(C) Emotion

(D) Interest

In Guilford’s model of problem
solving, which of the following

occurs first ?

(A) Input

(B) Filtering

(C) Cognition

(D) Production
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FTEA AR GRUMH SR HEHh

HIOTAT 2

(A) T4

(B) YoM

(C) Hra

(D) Afe=t

e giEnr= fwe gren fagiad

@ik HIvd JIH Hed ?

(A) HIfEdT =0y

(B) Tesuil ATel

(C) =

(D) WeRH




Which of the following statements
regarding achievement motivation

are true ?

(1) It is a stable learned
characteristic in which
satisfaction is obtained by

striving for excellence

(2) People with high on need for
achievement seek out situations
in which they compete with

some standard of excellence

(3) People with high n-Ach do not
choose such tasks in which

success is unlikely

(4) People with high n-Ach tend to
be motivated primarily by a

desire to avoid failure
Codes :
(A) (2), (3), (4) only
(B) (1), (3), (4) only
(C) (1), (2), (4) only

(D) (1), (2), (3) only
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GUeT GIUETId  ©ITcATeTdeh]l 10T

faum =l eRa ?

(1) FURAURO AN feeR 07—
Ifereey o, AHER SFvEdE

RhTSSHes 3G W gl

(2) TR IO STEESITET AT Kl

Ay qRfEed weE Hellahsd=a

TSN Tl HLOATET I Shiard

(3) 1 IRl UGN SsagSIl

3L, O AT IME TGS 3R,

M wE fHereq ATEl

(4) 1 CrRTEl HUGTURON IeagSrd!
3R, T STTIRT M= To A
IRA e ST

e

(A) (2), (3), (4) &K
B) (1), (3), (4) &K
©) (D), (2) (4) ®

D) (1), (2), (3) T
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Sternberg identified three kinds
of components of intelligence. They

are :

(A) Alpha components, beta

components, meta components

(B) Meta components, performance
components, ability acquisition

components

(C) Knowledge acquisition
components, skill acquisition
components, ability acquisition

components

(D) Meta components, performance

components, knowledge

acquisition components

On the Rorschach test, an M score

would be scored under :
(A) Location

(B) Determinants

(C) Content

(D) Form level
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(A) JITHT ETH, fa21 E=EH, BT

¥deh
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(B) feetfireq
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8.

A newly developed extraversion

scale was correlated with the

extraversion scale of the Eysenck

Personality Questionnaire. The

sample size was 400. The obtained

correlation of 0.22 was found to be

significant at .01 level. This provides

evidence for :

(A) Satisfactory parallel form

reliability

(B) Unsatisfactory parallel form

reliability

(C) Satisfactory concurrent validity

(D) Unsatisfactory concurrent

validity

8.
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T Aafoeniad afgqedn ==l S

AYF YA FOvERRA Sfg-

HEd Tha ded TedeY Heudr

ST, TATTE 400 KT Bid. THesreren

0.22 ¥ wgHae Wifeasiagsea

AU B, B EAUR! HA I

e ?

(A) FHIEFERRE 9IiET €9
forgereraa

(B) AGHIENT®TIE  TA(AT ®U

ICEEREIRI]

(C) HHIHThIh THEd] S

(D) STHHIYTTRNE HHIA eIl
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10.

Split brain studies are possible due
to surgeries for intractable epilepsy

which sever the :
(A) Superior colliculi
(B) Corpus callosum
(C) Cingulate gyrus
(D) Central canal

According to Biederman’s

‘recognition by components’ theory
of perception, edges have the

following invariant properties :
(1) Curvature

(2) Co-termination of light shade
(3) Symmetry

(4) Collinearity

Select the correct option from the

codes given below :
Codes :

(A) (1), (3) and (4) only
(B) (2), (3) and (4) only
(C) (1), (2) and (3) only

(D) (1), (2) and (4) only

10.
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(A) gUIfer hiferref

(B) =UH Sy

(C) Tageie TeRH

(D) A e
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(1) dshel

(2) PR TRRETE THAd 37

(3) wHfHAl

(4) HEXGE

@ feeiedn e A v et

Fe

A) (1), (3) 9 (4) ®d
(B) (2), (3) 9 (4) ®d
(©) (1), (2) 9 (3) B

(D) (1), (2) 9 (4) ®xd




11. Match List I with List II and select
the correct answer using the codes

given below :

List I

(Name of the Schedule)

(P)

Q)
(R)
(S)

(1)

(2)

3)

(4)

Fixed Ratio
Fixed Interval
Variable Interval
Variable ratio
List II
(Responses)

Rat learns not to respond at the
beginning of the interval and
only starts responding towards
the end of the interval

Produces slow but consistent
responding

A rat will respond rapidly until
the reinforcer is delivered

Produces high rate of rapid and
constant responding

Codes :

A 3
(B) (4)
©) @)
(D) 1)

(P) (R)
(2)
(1)
3)

(4)

(S)
(4)
(3)
(1)
2)

Q
o))
2)
4)
3)
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11. It I i It I el oo et
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Q
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1)
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EICU |

(AR A Ta)
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o a
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1 3)
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4) (2

Q
1)
2)
(4)
3)
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12.

13.

Which of the following statements
is correct for Craik and Lockhart

Model of memory ?

(A)

Memory consists of one system

(B) Deep processing would lead to

long term forgetting

(C) There is no independent way of
distinguishing between shallow

and deep processing

(D) Central executive guides deep

processing
‘Mental Set’ means .....ccceueeeeennenn... )

(A) Arriving at conclusion without

conscious awareness

(B) Using the solution persistently

that has worked in the past

(C) Sudden realization of solution

to a problem

(D) Viewing objects in their

functional and customery way
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12. sheh MU Alhge=al Tl UTEIMHC

13.

Teliadeh! HUA faaM o= e ?

(A) TdHEd Thd IF0ET GHET
K[l

(B) <TeerTed foeomast (@ierer)

O TR0 qEhR U IR

(C) SYes 3T TE TER{oMHEA 98

FHITITYTS] HITTATR] Tads AT

T

(D) FEd H&RIME Sad ass
qrieei &

g < BN

(A) TSI  ATHAMIH Gl

(B) YdehIedld WgHIE I QU Tl
T

(C) 99 S EHS A& A0

(D) ST ST F=fed gl aRihe

qrEul
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14.

15.

Papez discovered the neural
mechanism of emotion known as
“Papez circuit”. This involved the

connection of :
(1)
(2)
3)
4)

Cingulate cortex
Hypothalamus
Reticular formation
Corpus Collosum

Select the correct option from the

codes given below :
Codes :

(A) (1) and (4) only
(B) (1) and (3) only
(C) (2) and (3) only
(D) (3) and (4) only

Conscientiousness and
Agreeableness scales in the NEO-PI-

R are :

(A) Uncorrelated with Eysenck’s

psychoticism

(B) Positively correlated with

Eysenck’s psychoticism

(C) Negatively correlated with

Eysenck’s psychoticism

(D) Uncorrelated with each other

14.

15.
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TOge e Sa Fson shered. faen
g IRYY 318 UK. T JEraTdeh]
FHU TEHE FHIAR ARd 2

(1) HEfed dEaeh
(2) STERIAILIS

(3) Se=AT 94

(A) (1) =Afor (4) ek
(B) (1) afor (3) Wherd
(C) (2) =T (3) e
(D) (3) =AfUr (4) werd

FHIVTEREEY 9 Fftgey a1 NEO-
PI-R W&l §F O ¢

(A) STTEiR=al AEwifefaemEi 8-
Heiferd e

(B) ATIR &w=AT  Wrawifefama

TR e Hegeed 3T

(C) ATIg &w=aT WAk fefaaqeft
TR Feqaed 3Ted

(D) TWERRT Hggered e

11

[P.T.O.



16.

17.

18.

The membrane potential in the

neuron is due to :

(A) Chlorine and zinc ions

(B) Calcium and chlorine ions
(C) Zinc and sodium ions

(D) Sodium and potassium ions
Which Gestalt principle is primarily
applied while using camouflage ?
(A) Proximity

(B) Similarity

(C) Closure

(D) Contour integration

Which of the following
reinforcement schedule is the most

resistant to extinction ?
(A) Fixed ratio schedule
(B) Fixed interval schedule
(C) Variable ratio schedule

(D) Fixed interval schedule with
limited hold

16.

17.

18.
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Jaed fava wIMHS B ?

(A) FAH 9 o M

(B) sfwmem 9 s\ A
(C) Toiw = wifegw s

(D) Gifeaq g URREY A

STHELOTET STIX SHIAT HHES hlUTd

T e el S ?
(A) GHT
(B) HHMA

(C) &I

(D) STER®N ThIcHIH L]

WTATATRT goaad TRUNAES  HIMA

gld 2

faSN

ENIEE

ShHTdeRHI

(A) Teert TR ST

(B) TR shreriat ST

(C) aftedt T[UiRR STIg=
(D) HifHd FHreTee fEer sreflar STe
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19. Match List I with List IT and select

the correct answer by using the

codes given below :
List I
(Models)
(P)
(Q) Associative Network Model
(R) Attribute Model

Exampler Model

(S) Prototype Model
List II
(Features)

(1) Concepts are represented by the
nodes

(2) Concepts are understood by the
implied characteristics

(3) Concepts are represented by the
abstraction of characteristic
features

(4) Concepts are represented as
specific instances

Codes :

P Q@ R O
@A @O @ B @
B 2 B @ @
© B @ @O @
O @ @O 2 3
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19. Il I afor It II = Siedl oral

0T Wl feciedn Tehdishr=AT STUR AR
I &l e

RICU |
(UTE)
(P) WA 91&d

(Q) UE=dlH® Seid Jr&Ed
(R) SFYd T W&
(S) enfewy yrEg
Rl |
(afyTe=)
(1) Heheuara gfaffae ‘Areq’ gR
BId

(2) Fheudard 3 TURIMU YihAGR
BId

(3) Teheure faffc uEfmearen
STARTOMER &1

(4) fafere w1 oo gfafHfee
h {dld

W :
P) Q)
@ @1 @ & @
B) @ 3 @ @
© 3 @ @O @
M @ @1 @ @3

R) (S
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20. Match List I with List IT and select

the correct answer using the codes
given below :

List I
(Reasoning type)
(P) Inductive
Q)
(R)
(S) Heuristic
List II
(Examples)

Deductive

Conditional

(1) Deciding that a person who
wears a calculator on his belt
does not like parties

(2) If the mother smiles, then the
baby smiles; if the mother does
not smile,the baby does not
smile

(3) All cats purr. Pita purrs,
therefore Pita is a cat

(4) You know that dogs that are
foaming at the mouth and have
glazed eyes may be rabid. You
meet a dog at the street that
appears foaming at the mouth

and you conculde that dog is
rabid

Codes :

P) Q@ @R S
A QO @ 6 @
B) B @ @ @
< 2 & @O @
D @ @O @) (@)
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20. T I A1 A6t 11 =31 Sired ara 3oy

et feaiedn FehdienT=aT TR AT Il
97 ¢

It 1
(gferaTg yahn)

(P) famArcHes fo=mr

(Q) T fa=mr
(R) sracisll fa=m
(S) et
et 11
(SaTeTT)

(1) T =K AT GZSATAl FHeTRetel
A, N HARY STeed el 318
EUEL

(2) SN 3T g9l T o B9d, S 3T8
YA Tl W AIBE 9d ATel

(3) Id AN wE FHad, fier =me S,
A frer AR eme

(4) = HATA qSE BE AR 3o
s THRIR 3ed WU H3
fodTesciel 311 319 qrarel Hifed 3.
TEAT JeTell Toh pall foedl e
el ®E e AEEA al Al
fodrescten @8 39 qRl A

i
P) @ [®) (5

A1 @2 B @

B) B @ (2 (@

©e @2 3 O @

O @ @1 B @
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21. Match List I with List IT and select

the correct answer using the codes

given below :
List I
(Thirst type/receptors)
(P) Osmotic Thirst

Q)
(R)

Osmoreceptors
Hypovelemic Thirst
(S) Baroreceptors
List II
(Mechanism)

(1) Thirst occurs when the solute
concentration of extracellular

fluid increases

(2) Thirst occurs when the intra-
vascular fluid decreases

(3) Detect the
concentration of the interastilial
fluid

changes in

(4) Detect blood pressure
Codes :
P Q@ R O
@A @O @ G @
B 2 B @ @
© oL 3 @2 @
O @ 2 @O 3

MAY - 13216/II—A

91. =El I 3nfor Iret 11 3= el v ST

et feciedn Hehdieh=a STUR AR Il
3|

RICUN |
(TR /TTED)
(P) 3irgHIeIR qo
(Q) RO
(R) BEUregeiHieh ol
(S) WU
RIC i |

(F=um)

(1) SiegT Hiele ThahLuMes deadeita
gaTHEd  dT@ ®Id  dssl qul
SILER]

(2) SiegT T 59 HHT Brdl deal o
SToTerd

(3) SIS FaTd TehA[hLumdle]
ESSICIIEISCRIG

(4) TEETET i S

m M
P @ ® ©

A 1 @ 3 @)

B 2 3 @ @

e @ B 2 @

D @ 2 @O @
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22.

23.

Research on heritability of

intelligence suggests that :

(A) heritability is more important
for achievement than for

cognitive abilities

(B) The effects of common

environment and specific
environment count for very
little on the variability in

achievement scores

(C) Common environment has the
most important influence on

achievement scores

(D) Common environment is the
most important influence on

cognitive scores

Which of the following tests

simultaneously assess the

personality disorders and the

validity of respondents answers ?
(A) MPI

(B) MCMI and MMPI

(C) MBTI and MPI

(D) NEO-PI-R and MBTI

22.

23.

MAY - 13216/11—A
S G SRTTH e TSR e e
Fd B e

(A) IENHEEAT & arafTed et

YT S HevaT=l 3T

(B) g™ ey 9 fafyrse ufEawy Jm=n

TURA YTAlehTdiad J=ud 3Tel

oy gy fowa

(C) 9T YiEe=T HUeT GTeiehle

Hqra1, dA&foia gRomy fegar

(D) | qiamEn sefeh WTiehier
Ao gure fedar

G ShIV] ATEv] TehToled! SHTokTH<d

D

o

faghci= iR hard o Sl ded
SEe quEaE 2
(A) TH.GL.SAM.

(B) TH.H.TA.T. 3701 T3
(C) w33, enfor wH.d.eE.

(D) Fei-d.emg-3m. offtr a3
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24. Match List I with List IT and select 24. ‘é:na':’[ I a7for q|c;:\| 11 qi-oq| \yﬂ\«:p“ AT

the correct answer using the codes

afor o welt foetear GehdreRTeA

given below : MR I IR A ¢
List I It 1
(Test) (Srreruit)
(P) EPQ-R (P) EPQ-R
(Q NEO-PI-3 (Q NEO-PI-3
(R) EPPS (R) EPPS
(S) STAI (S) STAI
List II et 11
(Trait/Dimension Assessed) (mrfaa qUTATyTSE/ 3TTETH)

(1) Openness to experience
(2) State anxiety
(3) Psychoticism
(4) Achievement need
Codes :
P Q @R ©
A 1 3 @ @
B) 3 @1 @ @
© GO 6 @ @
M @ @1 @ @

(1) Openness to experience
(2) State anxiety
(3) Psychoticism
(4) Achievement need
Hehdiah :
P) @ [®) )
A 1 G @ @
B 3 1 @ @
< 1 8 @ @
D) 3 1) @ @

17

[P.T.O.



25.

26.

Experimental evidence for
subliminal perception can be

provided by :

(A) Increase in sales of subliminally

advertised products

(B) Failure to report conscious

awareness of stimulus

(C) Ability to make accurate forced
choice decisions above chance

level

(D) Use of event related potentials

(ERPs)

What were the measures of
conditioned response (CR) in

Pavlovian conditioning experiment ?
(A) Response amplitude

(B) Response novelty

(C) Response latency

(D) Response recovery

25.

26.

MAY - 13216/I1—A
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27. A person has a plan to do several

tasks during the next week, e.g. to
write a letter, consult a doctor, read
a book etc. What type of memory he

has to be engaged in ?
(A) Episodic

(B) Procedural

(C) Autobiographical

(D) Prospective

27.
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fal

TR ki el ATSaSdrd 3T hH

o N

FUII™ ST A 3R, 3e1. TS

3. ATHEY I WehTTa! Tl 1ok 3T

N C T

(A) 9rEfTR

(B) shrdugdifasaes

(C) ATHATHATHR
28. List the typical stages of creative
D) Hfosareash
thinking in the correct order.
. . : 28. TSR foaRUfshImeie TorRi=T e
(A) Preparation, incubation,
verification, orientation and ELE I
illuminati .
Huination (A) gaTErd, SAAATO, TSATSUN,
(B) Verification, illumination, ﬂfﬂ'ﬂ@ﬂ e e
incubation, orientation and
preparation (B) TSdTBUT, {EAsedl, 3d:qIo0T,
(C) Orientation, preparation, SEE S £i R
ificati .
verification e 2 A
(D) Orientation, preparation, .
: L (D) srfugerd, gefqart, $iq.qre,
incubation, illumination and
vertification OIS T
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29.

30.

The vineland social maturity scale
measures :

(A) SQ
(B) MQ
(C) PIQ
(D) VIQ

Match List I with List IT and select
the correct answer using the codes
given below :

List I
(Components)
Products
Content

Mental operations

(P)
Q
(R)
(S) Dimensions of intellect
List II
(Descriptions)

(1)

Cognition, memory, evaluation,
divergent production,
convergent production

4 x 5 x 6 cube

The result of bringing some
mental ability on content

(2)
(3)

(4)

Visual, auditory, figural,
symbolic, semantic, behavioural

Codes :

(P)
A) (D
(B) 4)
C) 3)
D) 2)

(R)
2)
3)
(1)
4)

(S)
(4)
(1)
2)
3)

Q
3)
2)
4)
(1)

29.

30.
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RE<le FRe WA Thol e HIUA
EXGEE

(A) THH
(B) TH.H.
(C) dl.3TaH.
(D) &3,

It 1 oAfor FEt 11 e Sies e
AT Wl feciean Tehdishr=AT STUR AR
SIS R | B

I |
(ereeh)
(P) Scdifed
Q) AR
(R)
(S)

qEfaes  Tfsha

JfgHTe H<h
EIC | |
(Tui)

ST, e, e, Sgetall 3o,
Toreft Icaed

4 x5 x6 Hd

AN fouge wEl AFfEs  &THdl
LT giRomH

TR, 49U, 3hiae, FdihlcHR,
FAR, IR

Hehdich :
(P)
A) (D
(B) @)
© 3
D) 2

(1)

(2)
3)

(4)

(R)
(2)
3)
(1)
4)

(S)
4)
(1)
(2)
3)

Q
3)
(2)
4)
1)
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31. While computing inter-item | g1 srmqr 99 =a1 SEIA-gvATHENH
correlations in an ability test, which qegs Y Had gd?lcfiﬁchﬂl F TS ?
one of the following should be .
preferred ? &) feorolt wewew
(A) Biserial correlation (B) wrA W
(B) Phi correlation (C) fog fgaftre wedawy
(C) Point biserial correlation (D) TeaeT==n TUrgHA HedeY
(D) Spearman  rank  order | 32 Y WAl ¥ YEIAUR! HIUT HA

correlation e a e ?

32. Th.e vagus. nerve does not regulate (A) =9
this function : )

B) @@ s
(A) Taste B)
(B) Laryngeal control ©) i
(C) Neck sensations (D) e
(D) Hearing 33. YT ﬁ%alﬁla, e W fedq

33. In classical conditioning learning is :
evident when a : (A) STvEmEl URTYe sfae™ T9am
(A) Stimulus automatically SEIush TeEiaue Tgfohen A

produces a response without a LA
prior history of experiences (B) 1 T gbqlcﬂcﬂl d{gl'\ghm frator
(B) Stimulus which did not initially & Yehd Hoedl, STl |1 313@6”
produce a response now elicits =qr
that response R N
(C) Ui aaTh RUH S hdqUl
(C) Spontaneously emitted ~ PPN
res . . frequency [l SATUI-AT SHAqIsh A=l ARARId]
ponses increase in E
as a result of its consequences e
(D) Subjects repeat an action they (D) SR TGl el T HIHT T 1SN
have observed in another if ftteror st Fdt LRI-4=T
praised for it hdTd
21 [P.T.O.



Question Nos. 34 to 38 :

In the following questions, each

question has two statements —

Assertion (A) and Reason (R). Read
each question carefully and decide
whether Assertion and Reason are
individually correct or not, and if
they are correct, whether the Reason
is a valid explanation of the
Assertion. For each question, before
the corresponding question number,
indicate your answer using the

following codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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Y97 ok, 34 o 38 :

Wefled A, ek Y9 S el
3Red —

T a9 (Assertion or A) I I

(Reason or R). Y% TR FHIBS(gah

g1, faum enfor SR Wasao sheR
TR <h! TR!  STaT, 3O ff SR 3T
T R g faumme goned Trsdienn e

H d A YIS TIAES A=A A

YT HTRTTHN Tl Hehdd  oTI&A

MUl I <9far

A) faum (A) 9 HRW (R) S TA
3Red 9 RO (R) 7 fagmm =
TR 3R

(B) faum (A) 9 &RW (R) T TH
3Rd 991 SR (R) © faumm amg

TR0 TR

(C) Taem™ (A) ¥ 3T 90 &R (R)
IHh IR

(D) fa®m (A) I& TR 90 &R (R)
g 3T
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34.

35.

36.

Assertion (A) :

Studies have shown that continued
conflict deteriorates physical

health.
Reason (R) :

A frequent outcome of prolonged
stress is the production of gastric

ulcers.
Assertion (A) :

Those personality theorists who
follow factor analytic methodology
and want to focus on second-order
factors do not rotate first-order

factors by oblique rotation methods.
Reason (R) :

Oblique rotations give correlated

factors.
Assertion (A) :

While computing the scale values of
attitude items by the method of
equal appearing intervals, median
is usually employed as a measure

of scale value.
Reason (R) :

The distribution of categories
assigned to several items is not

normal.

34.

35.

36.
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faam (A) :

HWIEIER Y 8 1 Fa=n go
TR A foerefe

N
d.

T (R)

STefhTel aror sR=Q] SIS u i

L.

fagam= A) :

RIS ARSI TS U
T TR T F<h [aevudGdl araed
e W SemehieR. R U HEIE,
TIH THF ThTd fadieh ggd gehracd
FHA TR

T (R)

faam= A)

sTfyert faumr=n Soiqeare wacelt
FAUA TS AYT HIAET HTH

HHE (median) S0 RUH MR
Bl

T (R)

I faumm feaen gema faawo

TEME 9.
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37.

38.

Assertion (A) :

Dopamine release is triggered in
addictions at the time a dose is

expected but omitted.
Reason (R) :

Dopamine system responds to the

unpredictability of rewards.
Assertion (A) :

It is difficult to assess creativity in
traditional personnel selection tests
using multiple choice questions
(MCQ) format.

Reason (R) :

Creativity is related to intelligence

but not with personality.

Instructions for questions 39 to 43 :

Read the following paragraph and

answer the five questions that follow :

Paragraph : A researcher in
psychology of stress hypothesized
that the stress would adversely
affect the performance on mental
tasks. One hundred and fifty
subjects, 75 boys and 75 girls,
studying in the twelfth standard, in
the age range of 17 to 19 years were
employed in the study. All the

37.

38.
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fagam A) :

FEAIHA SeRiten ‘sl sTafed ST,
o fHesd TS, TGS SINHA Wafed
2.

%ruT (R) :

gfathe STffy=ed Tdciean  UifLerdien

S GLE SR <.
faam A) :

U T ATIROMAT WA HHER]

e =l gSiasiddd HIOT hol
IS IR,

T (R)

o U9 W, 39 d 43 Wi g

T IR=eR T 9 Tt ure geTE
IW W :

UR=ST : AUMER TN HIOMAT TH
OERTERM QoM qHEes Rt
Trrefaer farodia aftomd e o/ STw™
iedl. IEA 3aNd ReRUR, 9au q
THIVE SN Syl Tga (Tamem
T 9 JERewR qal) A1 SALAIAEe
RO . T JIFAEl GO
85 U 115 =1 TN B A1 Y&,
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39.

subjects were in the IQ range of 85
to 115. Three groups of equal size
were formed by random assignment.
Group I performed under high stress
condition, Group II performed under
moderate stress condition, and
Group III performed under low
stress condition. Each subject was
instructed to solve 30 simple
numerical problems in the allotted
time of 60 minutes. The mean
number of correclty solved problems
were seventeen, fifteen and thirteen
respectively. The intergroup mean
differences were statistically

significant.

The variable ‘intelligence’, in the

above study, can be labelled as :
(1) Behavioural variable

2)
3)

Continuous variable
Controlled variable

(4) Organismic variable
Choose the correct option :
(A) (1) and (3) only

(B) (2) and (3) only

(C) (1), (2) and (3) only
D) (2), (3) and (4) only

39.
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ARl G 3Teel, T WHE ATEa-
gl HITATd  ATA. HHE Tk
T T o o1 feerdta, ¥ §H
AT FEeIT weAd T feerdia enftr g
T Tefier TgaaT shHt aTor feerdta wREima
fCeicl S shel. AHE Yodsh TaRITal
g e oMfes guen, fuifia o
Hiefaciedr 9=l 9&d, dF FHgEme
IR |, 990 F q0 B HEI-
netel i WA goear Aoy
2.

A eI FfgHa’ A aRacien
qelcTieh! IV YehRe Tied TRl
EE

(1) = afac

(2) Ho e

(3) Trafm ufec

(4) g gfter

Irg 79 Haer

A (1) 9 (3)

(B) (2) F (3) T
(€) ), (2) 9 (3) ®H

D) (2), (3) 9 (4) T
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40. Which of the following statistical

41.

method would be suitable for
evaluating the intergroup mean

differences ?

(A) Paired samples ¢-test

(B) One-way ANOVA

(C) Two-way ANOVA

(D) Repeated measures ANOVA

Which one of the following
conclusion can be drawn on the basis

of the above study ?

(A) Researcher’s hypothesis has

been rejected

(B) Researcher’s hypothesis has

been partially accepted

(C) Researcher’s hypothesis has

been accepted

(D)

Inadequate data to evaluate

researcher’s hypothesis
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40. EATHRT HITA HEARTEHAE TS

41.

M HEAT™ e hivaee! I
e ?

(A) FH TN -
(B) UsATT g=rur fagerson
(C) fgurfl w=Ror fawersm

(D) GRIEA "9T F=Ror foagerso

T TATER YEraTdeh! ehioran Fresht

Hedl Jed 2

(A) TENEHRT SATTH STEEFA e

(B) WINERTE STWH AR e
wipd Fmt

(C) TENEhM™ AW Wihd Tl

(D) HYMERT=A ATHE  odTh

HOIE AT G
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42. Match List I with List IT and select

the correct answer using the codes

given below :
List I
(Type of Variable)
(P) Independent variable

Q)
(R)

Dependent variable
Controlled variable
(S) Discrete variable
List II

(Variable)
(1) Subject’s gender
(2) Subject’s education
(3) Stress level

(4) Number of numerical problems

solved by the subject
Codes :

P @Q
A 3 @ @

R) S

B @ 3 QO @
© @ 3 @ @
O 3 @ QO @
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42. I I Afor At 11 =i St e STy

et feciedn Hehdieh=a STUR AR Il
ol o

et 1
(afteed enr)
(P) e aierd
(Q) s1aas qfRes
(R) T aftercd
(S) foremt uftacd
et 11
(uftare)
(1) wgskre ferm

(2) UK faregon
(3) TTUT Tcest

o

(4) TIFMH TR Arefaeredr sifas

TS /&
Hehdich :

P) @
A 3 @ @ @

R) (5

B @ 3 @O @
© @ 3 @ @
M B @ @O @
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43. Given

the
statements—an Assertion (A) and a
Reason (R). Read them and indicate

your answer using the codes given

below are two

below :

Assertion (A) : In the above
study, the
subjects have

been randomly
assigned to the
three groups.

Reason (R) : Random assign-
the

subjects enables

ment of

the experimenter
to manipulate
the independent

variable effectively.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation
of (A)

©)
(D)

(A) is true but (R) is false
(A) is false but (R) is true
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43. 42 TH TR T fauM (A) A0 TH

%R0 (R) fedAs eq. ot am=r o

ATl Hehd aq%T AT I <Tell ¢

faam™ (A) : aa STeFAE, eI
T T it gsd
IER IR TUS SIS

N

PR ERI I BRI R R
HAT

JA TR AT AT

uT (R) ¢
IEEISEIEC:
T o

gftaeaf=t  gareTh

qROoMHeR R T sl

Ad.
i

(A) (A) 3701 (R) SIFel SIeR 3Ted, 3TTf0T

(R) T (A) = 3T TIRIHRI 318

(B) (A) {01 (R) Sl sI{ieR 371ed, W
(R) T (A) = 3Th TILIHIU TR

(C) (A) T M AR, Wg (R) T IH
3R

D) (A) & g% 3T, Wg (R) § SR
3
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44.

45.

46.

Profound anterograde amnesia
results from accidental injury or

surgical removal of the :
(A) Hippocampus

(B) Hypothalamus

(C) Pituitary gland

(D) Cerebellum

Which one of the follwing problem-
solving strategies, though time

consuming guarantees solution ?
(A) Algorithm

(B) Heuristics

(C) Study of the problem in parts
(D) Trial and error

Which of the following biochemical

is central to the stress response ?
(A) GH

(B) MAO

(C) GABA

(D) ACTH
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44. TR ITHTCATE THAG@T T HIMCA

45.

46.

STTETATdIE ST foha IrAfshagT g

ZEhUITEl AT AR 2
(A) A

(B) HERTAETH

(C) frgfor Tieh

(D) sTgHfETSh

JEICTUsh! hITl THE RIS TS,

S Tl I Wt 9d ?
(A) SFREH

(B) et

(C) HHSM YNl 3{ead

(D) TFE-THIS

IOl STfShET SUSTA ShIUTe] ST

mEaTel fie STE 2
(A) GH

(B) MAO

(C) GABA

(D) ACTH
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47.

48.

A person with moderate mental
retardation has an IQ in the

following range :

(A) 20-35

(B) 35-50

(C) below 20

(D) 50-70

A busy housewife may not be happy
with the sudden arrival of guests,
but instead of showing displeasure
she may be too hospitable to them.

This defence mechanism is called :

(A) Reaction formation

(B) Displacement

(C) Compensation

(D) Projection

47.

48.
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Hiele AfqHee THeed] SHKiTdl JGA1h

B SR STl

(A) 20-35

(B) 35-50

(C) 20 =1 et

(D) 50-70

TEUATAT AN JvATHel *_IA
AU it Shelfad THfed el 79,

Y TG ARISH 9 TrReEd o =T
TEUER . AT TET0 FARAE ™

T ?

(A) Hfdafsar =0

(B) fasem=

(C) gfagrur

(D) 9&gul
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49.

50.

A test has mean of 40 and standard

deviation of 8. If the scores are

normally distributed, what would be

the percentile rank of 48 ?

(A) 60

(B) 68

(C) 84

(D) 90

Which of the following is not a

neurotransmitter ?

(A) Acetylcholine

(B) Serotonin

(C) Dopamine

(D) Prolactin
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49. T MUl HET 40 9 wHO faged

50.

8 3TTe. WTTehr ToaeoT JH™E ST,

48 I YTSAhTE TAHGhT T[UMIhRH 1

A ?

(A) 60

(B) 68

(C) 84

D) 90

Gl hIUd g <draieeh ATer 2

(A) THfETRIAN

(B) T=&iH

(C) S

(D) WreiferRA
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ROUGH WORK
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